Cuadro del célculo del Lote

sen 45=2,55/h 0,707 cos 45 =a/h 0,707
0,7071=2,55/h 0,7071 = a/3,61
h= 3,61 a= 2,55
Areas total o bruta de la vivienda: 156,24
Garage/opcional: 74,52
Patio multiuso. 8,92
RELACION 1:1 12,50 |
RELACION 1:2
X+2X= 156,24
2X2= 156,24
X2= 78,12
RELACION 1:2
X= 8,84
2X= 17,68
DOS PLANTAS
Areas total o bruta de la vivienda: 156,24
Garage/opcional: 74,52
Patio multiuso. 7,2
PB 77,76
PA 84,24
RELACION 1:1
PB 8,82
PA 9,55
sen 45=5,1/h 0,707 cos 45 =a/h 0,707
0,7071=5,1/h 0,7071 = a/7,21
h= 7,21 a= 5,10
PB
X+2X= 77,76
2X2= 77,76
X2= 38,88
RELACION 1:2
X= 6,24
2X= 12,47
PA
RELACION 1:2
X= 6,24
2X= 14,07
DOS PLANTAS CON VOLADO
Areas total o bruta de la vivienda: 156,24
Garage/opcional: 74,52
Patio multiuso. 7,2
PB 77,76
PA 84,24
RELACION 1:1
PB 12,50
PA 6,74
sen 28=5,1/h 0,469 cos 45 =a/h 0,883
0,4694=5,1/h 0,8829 = a/+10,86
h= 10,86 a= 9,59
PB
X+2X= 77,76
2X2= 77,76
X2= 38,88
RELACION 1:2
X= 6,24
2X= 12,47
PA
RELACION 1:2
X= 6,24
2X= 14,07
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